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AN e ail- 11 el / 310H & 1og Teaig TR

Advance paper for ITI-Fitter Category-Il ST/ TM

1. |1 inch equals to _cm 1% YAl & SRS gIaT g
A)0.254 ~[B)254 C)254 D) 0.0254

2. A micrometer has an error of +0.02 mm. What is the correct value in mm when the:

micrometer reads 26.41 mm? % TAIE®IHICR & +0.02 forefl 1 3 &1 S AIgehIHieR 25.41

foreht o 3 < Pl A St A T R
A) 25.39 . B) 25.37 C) 2543 D) 25.45
3. 'V’ block is used to hold round bar. The 'V’ block usually has an angle of 1
V' si% MedR ﬁaﬁmﬁﬁifmmﬂmmm%lﬁ VISR R__ B
m‘eﬁm%l
A) 30° ' B) 60° C) 759 D) 90°
4. | The operation of threading in a drilled hole is called . Ta fovu T o5 o AfSw
wfehar & __ HYI AT B "
A) Tapping SRFT | B) Driling ISR | C) Reaming ¥ | D) Grinding TTRr&
5. | While grinding one must use . URfST % gHg BT IUGRT HIAT dlfgU|
A) dark glass screen | B) safety goggle C) Welding Helmet | D) sun goggle .
BIh M BT WP Jut TR @) f@Teedme &0 BT TRATEIITE)
6. | A bearing has nomenclature 6310 ZZ. Here 10 is related to ____of the bearing.
T% U ST TGV 6310 ZZ B TRT 10 90T SuARd 8l
A) Iength . B) Inner diameter C) Size : D) Outer diameter
el e PR qigdl

7. | The quality control allows at the most 0.4% defecttve parts. How many defective parts
can be allowed in a production of 500 parts? TUTaTT G0N Had 0.4% CrSyUl U Bl
SFARY &A1 8 1500 wﬁ%aamﬁﬁmﬁa’lmwﬂaﬂwﬁfaﬁww%?

A) 0.2 B) 200 C)2 | D) 20

8. | The most commonly used standard Iength of hacksaw bladeis . g®Hdl @ITS’ EH|
T s AR D IH A A-p e g .
A) 6inch- B) 8 inch C) 10inch D) 12 inch

9. | Which is the weakest element in a flange couphng joint? H%GT FuUfeHT | ?IEI@ HHGI 3
HHIR?
A)Flange /& | B) Shaft T4 | C) Key @t | D) Bolt §iee

10. | Which of the following is used for transmission of mechanical power?

Fife e & TERY & e Fafafed 3§ § o a1 Sud fear o gear 82

A) Chain SR | B)Belt &€ | C) Coupling B | D) All of these T Gt

11. | Rust is formed from reaction of ironand . dllg 3k ____ ! Ulciepd1 Q ST g Bl
A) Hz B) N2 C)O2 D) CO2
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The peen of a cross-peen hammeris . hI-UH E‘iﬁ% Pt giA

12. gl gl
A) bent towards the | B) cross to the handle | C) both A & B D) none of these
handle gSq B SR P TaRAGH T I PR T
| TeawaRgE | |
13. | Brass is an alloy of Haa__ @t Py uig g _
| A) Copper and Tin B) Lead and Tin C) Copper and Zinc | D) Copper and Silver
disr R fe ek fes dfeT 3R S L dier iR=idt
14. | 1 mm is equal to micron. 1 Tl AZHN & SRR
A) 1000 | B) 100 [C)10 o | D) 10000 _
15. | A cutting tool used to finish and enlarge a hole is known as . 8% & ol |
| IR FA P RUTRTE P TR AR P B %el Sl 8l
A) Drill T3 |B)Tap<cH [C)Reamer&R | D) Die SR
16. | The ability of a metal to be drawn into wire is a measure of its
YT P IR ORI 9T D1 &aT FUP! I Td 19 3
A)Ductility B)brittleness C)Malleability D)Hardness
17. | The angle which is less than 90° is called .S B 90° A HH G, I HEl
T & |
A) obtuse angle | B) acute angle C) right angle D) None of these
A B e FTY PR
18. | Which among the following unit is the Iargest unit for measurement of angle? ﬁ";’fﬁ'l@ﬁ
| A P THE P A B Yo S 3BT 82
A) Radian (8T | B) Second ¥dhg C) Minute f8¢ | D) Degree TSUt |
19. | In grinding wheel specification, symbol V" represents . TEfE wta fafqw 4,
wde V' _____ I axifar B ' | |
A) Grain size B) Grade C) Type of bond | D) Abrasive grit size
FUFHBR | IS _ SSHUSR | gy Bie &1 R
20. | Which one of the following is primarily a removable type joint? fAGfeRad & 3 o1 91, g
U ¥ ger g 999 T TSR 8?7 | Y -
A)Welded joint B) Riveted joint | C) brazed joint | D) bolted joint
- 4TS WgFd frde wgad S Hg siee Hga
21. | Which one of the following materials is used for making a grinding wheel? ﬁ'ﬁﬁf@ﬂﬁﬁ
fpg garf @ IRREN e §TR 3 Rig ST Rear st &2 _
A) Siiiconvcarbide B) Lead sulphate | C) Sodium chloride | D) Calcium carbonate
22. | The process of precision grinding of part with loose dust type abrasives is known
as AA@UPR F UG YA IERT wfpa S FE wmrel
A) Honing HIEu] B) Polishing TTeiRAT. C) Lapping qftT D) Buffing ST
123. | The point angle of general purpose twist drill is HHN JeL4! & fore sa G4l
R ATt e et ot fig T GOE] |
A)12° B)118° - | C)90° D) 45°
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24-_ ‘The grain size of a grinding wheel is indicated by numbefs. 'Very Fine' grain size is

indicated by number . UIEfET & & U B A GEAred ¥ gfid faar wrar
| 81 wga s® Hor F1 WY o & g far s gl | | :
A) 10-24 B) 30-60 C) 80-180 D) 220-600 ]

25. | Which material is highly brittie? B 9T Gardl 3@fiie ¥R &7 | _
A) Copper dial | B) Lead IR | C) Carbon steel ®T&H ®1d | D) Cast iron HRE SHTERA
26. | What is the colour of an Oxygen cylinder? Teh 3fiaRiter] RIS o1 11 T Bidll 87

A) Brown HXI B) Black &Teil C) Red dT¢] D) Grey Y3}
27. | SWG is used for measurementof _____. SWG _TA9 & e wiRT foar S ¢
A) pitch of the thread | B) length of wire | C) thickness of sheet D) type of the thread
s @l fUg dR B as | dIeX i Hiels oS B UHNR
1 28. | Which of the following can be bent into ‘U’ shape? Fofaad g , q PR T ﬁTs’r
S Fohdl 82 |
A) Cast iron bar B) Mild steel bar | C) Concrete bar D) All of these
DR R IR HIEcS Wi §R Hoic IR Bl

29. | Which is generally applied for identification of unevenness of two mating surface? al gy

A & AT B! UgEHA & g, 31H TR TR 1 WAt fohar e g2

A) Prussian blue B) Penetrant C)bothA&B D)-none of fhese
gRuAs] | UHieEe | TRl THY PIs TEl
30. | Select the most appropriate answer? The least count of Vemier calliper is EiCh]
| SUEE IR BT T B2 aHIR BRIR BT T 1 P
[ A) 1 T (mm) B) 0.5 AT (mm) | C) 0.001 f#t (mm) | D) 0.02 AT (mm)
31. | Graphite is a ___lubricant. UWBT3E T WEHE | X
A) Liquid %@ | B) Semi-liquid 314-d%a@ | C) Solid F3R D) None of these
| : EREREZ R
32. | The %ush bearing is generally made of . §R1 9T 3 IR R g &
g gl
| A) Bronze &i® | B) White metal ¥ UTg | C) Steel €1 | D) Cast iron BRE ATRA
33. | Millimetre scale in a micrometer is marked on R Ilﬁiﬁl'lﬂ?\’ﬁ TreitHes wpa
ok R fafga foan < g1 : :

A) Spindle 8@ | B) Ratchet T C) Thimble Fo@a | D) Barrel %@
.U fbg pToa™ FREICIEIGI]

‘A) Depth micrometer B) Dial Gauge C) Inside micrometer | D) Outside micrometer

| 34. | The diameter of a hole is measured by

35. | Least count of bevel protractor is . AT UIgaeR BT 3T gl
A)1 min e LB) 5 min e | C) 0.5 degree &7 I'D) 1 degree &3t
36. | Combination pliers are not used for PR TR Hi & foTe IugnT

e foa ST 8
A) Cutting ST B) Twisting fgi&€T | C) hammering 8ART | D) holding BfesT
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37. |A tap is broken at the surface of the work piece, this broken tap can be removed by using

G TSI 4de YUH U CC TN E, T G U ST S & JuIm
IS el ol GHdl B
A) punch B) cutting plier - | C) tap extractor: D) welding
38. | Choose most appropriate answer. Desirable hardness in a file is generally ; m
ST IR G | fodft wa B di-g FORAT AR R gl 8l
‘| A) 20 HRC 'B) 60 HRC C) 80 HRC - D) 30 HRC

39. | Which of the following cannot be used for locking of a bolt. ee @ dI® BT P foQ
FrofaRea & 3 fege suam 78 o w1 gar g ,

A)wire dR | B) Disc washer [$%& alIR C)nut ¢ D) spanner WR
40. | It is similar to screw but it has no head and it has threads on both ends, center portion

has no threads. ltiscalled___Tg U9 & TOq §, 3UPBI H§ RR T8l % sh?
9% 341 Ok IS ¥ AR nm um A9 TR S @l o &

A) DE Spanner Sl ¥R | B) Nut ¢ | ©) Bolt &ew D) Std ®E
4. [.. isnota Iabping compound. _ WGT%:@ ]
A) Silicon carbide B) Aluminium Oxide C) Iron carbide D) Boron carbide
Rifera - HFZS | R DIEIRS IR FEIES
42. | Filler gauge is used to check . fthoR 151 Sild &= & [o1€ ST foh T oirell ¢ |

A) gap fRTA | B) length TaTS | C) depthT&XE | D) diameter ST
43. | Which of the following is not a cutting tool material? REfafEd & ¥ &1 T TP e ga
FHarar e e 82 .
A) HSS B) Tungsten Carbide | C) Ceramic - | D) Wrought iron
44. | What is the value of thread angle of metric threads in degree? Hifie® 48 | U &1 HI0I
fehe f&h 87 - ' |
A) 60 [B)30 1C)55 - |D)75
45. | Which of the following is not attracted by a magnet’? fafafea 7 9 ﬁ?mqarzfgaao‘ '
SR 3epia gt giar 87
A)SS(THTH)410 | B) SS(THTH)316 | C) Carbon steel HTa D) All of these
o = | gt
26. |Guidepiniscalled . Meg TF &1 W Eicild -
A) Dowel Pin ST [B)H | B) Hello Pin &t & | C) Spiit Pm.ﬁzfﬁq D) Tab Pin ¢§ fO9
47. | Stainless Steel is generally made from Iron and Ry B AW dR W) die
]8R ¥ s 9 g ,
AyCr [B)K TC)Ca _ “[D)He. :
48. Chemical formula of Acetylene is Qﬁlﬁ?ﬂq P TOANAD L] ?I-
A) CHa | B) CzH2 | C) CeHe | D) CO
49. | Convert 4/5 in to decimal? 4/5 @] qRW@d H d6a? 3
A)0.4 B) 0.5 C)0.6 - |D)0.8
50. | Choose most appropriate option. Full form of PSl is _ per Square Inch.
- | s Sugw RFw@ T PSi T OOf Y _ wfd @t g9 .
A) Pounds TS | B) Pressure G81d | C) Power Sifad | D) Potential faHd
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